SAP ABAP table JBIUKOB {Receiver Structure Objects CL-Relevant Data}
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0..N
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JBIUKOB-LRB = KLLRB-LRB

JBIUKOB -CEQ = KLLRDEFO02- CEQCLASS _O-N

JBIUKOB-LEQ = KLLRDEF03-LEQCLASS

—_— —_—

BUTO00O

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

—_—

-~ 0N

KLARRC

MANDT [CLNT (3)]
ARR [CHAR (10)]

KLINTORG

MANDT [CLNT (3)]
INTORG [CHAR (10)]

KLLRB

MANDT [CLNT (3)]
LRB [NUMC (2)]

KLLRDEFO02

MANDT [CLNT (3)]

CEQCLASS [CHAR (5)]

KLLRDEFO03

MANDT [CLNT (3)]

———————— 0..N

LEQCLASS [CHAR (5)]

- JBIUKOB -RRFIND = KLRRFINDDEF-RRFIND  0..N | MANDT [CLNT (3)]

JBIUKOB-LRL = T005-LAND1 0N | MANDT [CLNT 53]

— = — _ -

N
0. |LAND1 [CHAR (3)]

0..N | RATING [CHAR (3)]

KLNTO1

NID [CHAR (10)]

KLRRFINDDEF

RRFIND [CHAR (5)]

TOO5
MANDT [CLNT (3)]

TPO6
MANDT [CLNT (3)]

TZDEA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RDEALER [CHAR (12)]




